EARAROBEEIERT — 2 N— IBISH —F

20165F4A1H (£) 1m)IIB1H

Y x7>8 c3 v5%—#

EZS

‘ [REBE] — | % (&) 00M B

[AE4£] 1 % :900,000 @ 23 :270,000 @

3 7&:162,000 @ 4 7&:108,000 @ 5 & :90,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s )13 . -3 . — s (i)
i E T IFE 4 — # 5 & 525_; 2-3-3 |37.5 2 (4_531) %ﬁggtta
RHYIRT4 5 BT RUH— BF K%
2 5 B 6 | FHEEA 56.0 3-1-1 38.0 — 6 447 | REREEE (111&)
2 7 W o= 54.0 (1 172) (o) | ) 77> K
S:TYHA XTI R Bk /ax 55> Kis
S g S 1Ly R . —4— . — g (1)
31 1| HTeUER o R E I R R
L:BALINT Ry X B:T7IVIRILTLZR =Sl
S o8 | RES 56.6 7-8-5 |37.6| — 9 468 | PEAARE (J111)
4 7%V 56.0 o e |FEES
L€/ IR B:Yav0dyx— hid  HEER
S e 4 | BWEF 56.7 1-2-2 [38.7| — 1 435 | REZ2 (i)
5 ZJEX ;4.10 (1/2) (-3) INFIER
LT RYAYF -5 BITG7TI—L4A A B2
o1 N A LS . ~7- . — AARAZ (1)
6|56l EHILRTLE— B 56.0 (1571/02) b7 3.8 ° (4_773) TN
L2 14x2 0 ML B:FLTI5 [ia=Ese]
> 4 4 6 | HEIIIRHE 57.1 3-5-6 38.4| — 3 483 | FHIE— (1)
7\7{10[ FFFY %053.0 (172) Co) | W) WS R—RFT h
R:vavroheT B:59445 HE R
S = o4 | HEEfE— 57.2 1-9-8 [38.0| — 8 478 | BAE— (II&#)
8|79 =l EN=F=— 56.0 (1/2) (+2) | BTEBEATE
LN—=VFNTyPa B4 bR HRSHE KEXT—TIL
. . . TREERA A . -6— . — ARz (1)
Y ¢ HAERAERERIZ o4 R 5(71)4 oo | B ! (5_2; FiEL
L:TSAT7LRE14 L B:AUFT—YT—ILK TADAS
S3 S s 7 | WHEREE 57.9 9-11-10 | 38.5| — 1 | 424 |EBH— (&)
10|55 IXIv7H-I 54.0 2 1/2) wr) | BEE=
R:Z28—-)>70-X B:O-LILTYH RE FR
= N R R 4 5 | EAXE 58.0 7-10-11 | 39.0| — 10 | 446 |WEEX (i)
1lgl1| 717y 7T 54.0 (1/2) (15) | PO
RRZ R N=IN— B:T7A5IH— =Sl
o TS5 # 5 | BEBZ 58.5 12-12-12 [ 38.7| — 12 | 421 |BEH— (k)
12( 8112 Ny TZ>FTxA 56.0 (2 1/2) (3) |BEMR-
LY TSNSt — B:a—TF kX LZHITp—L
@ 1—F—@&BIEf
13—7—
20—7— 8,2,(1,4,10),6, (3,11),(5,7),9,12
30—+— 4,8,2,1,10,7,6,3,9,11,5,12
41—+ — 4,8,2,1,3,10,6,9,7,5,11,12
[ RN
B OB 2 460M 714K 2-4 760M e & 2-4 1,990 &R 1-2-4 2,330
7 B 2 190 1-2 550/ | | # B 2-4 5,220/ | | 3EE 2-4-1 18,240
4 260M 1-4 640M B E 2-4 1,600
1 1609 B H 2-4 4,670M

ABICOVWTRDTEEERROODE. TR LIV,




